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PART—A
GENERAL ABILITY AND INTELLIGENCE

1. Which one among the following metals is Which of the statements given above
not a ferromagnetic material? is/are correct?
(a) Cobalt (@ 1 only
(b) Silver (b) 2 only
fc) Iron (c) Both 1 and 2
(d) Nickel (d) Neither 1 nor 2
2. What is the length of a simple pendulum, 8. Which o.f the following. e tt'xe major
which has a frequency of 0-5Hz contaminants from industries and
2 households that cause cultural
(take g=10m/s“)? SFiRY
eutrophication?
@ 1m (a) Chlorine and aldrin
(b) 2 m (b)) Mercury and nitrates
() 1'5m (c) Nitrates and phosphates
(d 3 m (d) Phosphates and ammonium
3. Ecotone is a 6. The arrangement and distribution of

(a) diversified ecosystem flowers over a plant is called
(b) transitional ecosystem (a) flowering

(c) transparent ecosystem (b) inflorescence
(d) stagnation ecosystem (€) thalsmmns

(d) aestivation

4. Consider the following stat ts about
e e e e 7. Lichens represent the  symbiotic

stem cells :
) relationships between algae and fungi.
1. Stem cells have the potential for The algae component present in lichen
self-renewal via mitotic cell is best known as
division.
. (a) mycobiont
2. In 1908, James Thomas and his
colleagues first derived human (b) phycobiont
embryonic stem cells from donated 5
: ; (¢) prion
blastocysts  through in  vitro
fertilization. (d) symbiont
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8. Fruit formation from the thalamus 12. Which one of the following is an example
instead of ovary is known as false fruit. of a physical change?
The most common examples are
(a) Ripening of banana
(a) orange and mango
(b) Souring of milk
(b) mango and banana

(c) Melting of ice
(c) apple and strawberry

(d) Passing CO, gas into water
(d) guava and cherry

9. The process of degradation of humus by 13. Rhizobium is &

some microorganisms and release of

; . : - ‘a) biopesticide
inorganic nutrients is known as (@ pe

(a) eutrophication (b) biofertilizer

(b) mineralization (c) bioherbicide
(c) humification (d) mycoherbicide
(d) stratification
14. A solution has a pH value around 13-0.

The solution may be called
10. Which one of the following human cells is

devoid of a nucleus? (a) a strong acid
(a) Nerve cell (b) a strong base
(b) Bone cell (c) mneutral

(c) Red blood cell (d) a weak acid

(d) White blood cell
15. Which one among the following elements

11. The chemical formula of washing soda is has the highest catenation property?
(@) NaHCO, (a) Silicon
(b) Na,CO4 (b) Carbon
(c) Na,CO,-10H,O (c) Nitrogen
(d) NaOCl (d) Oxygen

KASC-A-GIP/55A 5 [ P.T.O.



16. y-zw ¥ way #, Prafafed woE W RER 18. Frafefa & F-ah, afim A i 783 A=

Fife : Tt i 27
1. W 8 km-10 km % fawga w @il i
o 2, N gaw % R REf fifae (@)
% BAFTR Fell 78 R (b) w@
2. wieR, JfE g REfE g s Tu
Sieilg @ g% 98 B (c) <
I FE 4 ¥ BH-A1/FA-A T 2/E? (d) |
(@) Faa 1
5 19. W i Frffas # @ #-w TR gR I
¢ 1 3R 23t e W e 27
(d @ 133mad2 il A
17. §Efi-1 ® g1 & w9 gafaa fifde i (b) S
g & 9 fig T g w1 oW W oEEd IW ,
T ; (c) TEH
qe-1 -1 . e
(wrrfae smae) (Sruft)
A. fewgzmam 1. &g 20. fr=fafiga simmfas smei w faem fifs
B o % g it 1 win A wien sewta,
C. gt 3. = Jgft g2, 9UEE 15 °C-28 °C & 9 3R
D. Pt 4. i 91 150 cm-250 cm % #9 3MR F=E #
&=t 600 m-1600 m.
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16. Consider the following statements 18. Which one among the following is not a
regarding landscape : west-flowing river?
1. Bhabar is a narrow belt ranging )
between 8 km-10 km parallel to (a) Mahi
the Shiwalik foothills at the break-

up of the slope. (b) Banas
2. Bhabar is a belt consisting of old (¢) Luni
and new alluvial deposited by
i (d) Sabarmati

Which of the statements given above

i ?
is/are correct: 19. Which one among the following cities in

fa) 1 only India is located at the Northernmost
latitude?
(b) 2 only
(c) Both 1 and 2 (a) Sri Ganganagar
(d) Neither 1 nor 2 (b) Nainital
17. Match List-I with List-II and select the (c) Gangtok
correct answer using the code given
below the Lists : (d) Itanagar
List-I List-IT .
(Natural disaster) (Category) 20. Consider the following geographical
conditions :
A. Blizzards 1. Terrestrial
) ) . Well-drained, rich friable loams
B. Soil erosion 2. Atmospheric containing good deal of minerals,
' ' rainfall between 150 cm-250 cm and
D. Locusts 4. Aquatic altitude variations from 600 m-1600 m
Code :
Which one among the following crops is
(@ A B C D suitable under the above conditions?
3 4 1 2
(b) A B C D (a) Tea
3 1 4 2
(C) A B C D (b} Coffee
2 1 4 3
(c) Coconut
d A B C D
2 4 1 3 (d) Cashew nut
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21. Manikaran in Himachal Pradesh is better 24. Match List-1 with List-II and select the
known for correct answer using the code given
below the Lists :

(a) bioenergy

List-T List-IT
(Tribe) (Dominating region)
(b) paper industry
A. Gaddi 1. Rajasthan
(6 food proceasing Hdusiyy B. Munda 2. Andaman and

Nicobar Islands

(d) geothermal energy
C. Bhil 3. Jharkhand

D. Jarawa 4. Himachal Pradesh
22. Which one among the following States in
India shares a boundary with the most Code :
number of States? ’

(a) Uttar Pradesh (@) A B C D
3 4
(b) Telangana

(c) Chhattisgarh
(c)

FNES
w w
SH)

(d) Assam

@ A B~ D
3

23. Which one among the following places in
India is known for its association with
the pharmaceutical industry? 25. Which one among the following is not an
area of Marine West Coast Climate?

(a) Ballarpur
(a) South-Eastern Australia
i Tl (b) North-West Europe
(c) Sindri (c) New Zealand
(d) Mettur (d) North-West Africa
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26. Which one

among the
reference to the

following
statements with
Harappan burial ritual is not correct?

(a) At these burials, the dead were
generally laid in pits.

(bp) The burial pits were made in
several different ways.

() Ornaments have sometimes been
found placed in these burials.

(d) Harappans did not bury mirrors
with the dead.

27. Consider the following statements with

reference to Rudramadevi :

1. Rudramadevi is also known as
Raya-gaja-kesari

2. The inscriptions largely project her
as a heroic king not queen.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
(¢) Both 1 and 2

(d) Neither 1 nor 2

KASC-A-GIP/55A
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28. Who among the following was involved in

the formation of the Bombay Presidency
Association in 1885?

(a) Pherozeshah Mehta
(b) Dadabhai Naoroji
(c) Allan Octavian Hume

(d) M. G. Ranade

29. Which among the following was not a

member of the Adhishthana Adhikarana
of Kotivarsha in the Gupta period?

(a) Sarthavaha
(b) Mahattara
(¢) Prathama-kayastha

(d) Prathama-kulika

30. Consider the following statements about

the emergence of national conscious-
ness in India between the 18th and 19th
centuries :

1. The spread of printing press and
education, and inflow of modern
ideas helped Indian regeneration.

2. The reform movements helped
develop a sense of national unity
among the people.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
{¢) Both 1 and 2

(d) Neither 1 nor 2

[P.T.O.
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(@) Faa 1

(b) Fa< 2

(¢) 1 323
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(a) FRWER TdF (FiTEHE SER)
(b) 30 g (FOT FTER)
(c) T (FFede )
(d) e (STTE T i)
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yfafafert & st wrda sFfaw wEr @@
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(@) Faa 1

(b) Fa 2

c) 1 3R 23t
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31. What is Hallisalasya as depicted in Bagh

cave paintings?

fa) A classical dance form
(b) A folk dance form

(c) A folk form of theatre

(d) A percussion music instrument

32. One of the frequent representations of

Shri Lakshmi in sculpture is in her
Gaja-Lakshmi form. Consider the
following statements about such
Gaja-Lakshmi form :

1. The goddess sits or stands on a
lotus.

2. She is flanked by two swans.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

33. Consider the following statements about

the historical evidence of inscriptions in

India :

1. The oldest deciphered inscriptions
are in Brahmi and Kharoshthi.

2. The earliest inscriptions in the
Tamil language are copper plate
grants.

KASC-A-GIP/55A

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

34. The Dakshinamurti (South-facing) form of

Shiva represents

(a) cosmic dancer
(b) ferocious warrior
(¢) universal teacher

(d) lord of beasts

35. Consider the following statements about

the ‘Quit India’ Resolution of 1942 :

1. Its text was carefully drafted to
make it clear that it put India
among the countries at war with
the Axis Powers and fully aligned
with the Allied Powers (United
Nations).

2. It called wupon Britain to
immediately hand over power to an
Indian Provisional Government
composed of representatives of all
sections of the population.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.



36. wra #, f=fafas g svm w o9 w9 F 38. If w 3Iza1 B % *E Wue wew IR

ey § Yara AfFE % da9 3R w8 9 102(1) @ aftfa fFft Frdm @ s @ 2

o G 27 &, 9@ T ¥ = sfw fafiem =9 % oo
9 27

fa) favr mumE (@) R TR

(b) ATARER Ita (b) WA F1 WA

; : (c) <H A9 G
(c) Tt vy @ wifaufs @3 = fawa @

W (d) @ F gE g

(d) urEwtE Afawar 1 g
39. T @w #i ufaw @wfafa it 9% & fau

worgfd (i) = &Y
37. fFrafafes § § FR-t, T B A I35 A (a) W
? /oiferat 87
(b) W=
1. o9 fades grafia #6 f ofe
2. U g ¥ fredt v = o wewm W i e
ferem =it =
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3. WRA F UPYTd W WA JeH1
e fow e e R EE I g 40. A= WM F Afa NTY) SEm Fm
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(@) ]_,23?"{3 aﬁmﬂaﬁmwm?
(a) 2014
(b) FaA 2
(b) 2015
(c) Faa 2 3R 3
c) 2016
(d) Fa« 1 (d) 2018
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36. In India, on which one of the following

grounds can the salaries and

allowances of persons serving in
connection with affairs of the State be

reduced?

If any question arises as to whether a
Member of the Parliament has become
subject to any of the disqualifications
mentioned in Article 102(1), who among
the following is empowered to take the

final decision?
(a) Financial emergency
(a) The President of India
(b) Internal disturbance
(b) The Prime Minister of India
() Failure of the
machinery in a State

constitutional
{c) The Speaker of the Lok Sabha

d) The Chief Justi f Indi
(d) Degradation of public morality (@ ¢ ke

39. What is the quorum for a meeting of the
Committee on Petitions of the Rajya

Sabha?
37. Which of the following is/are exclusive
wer /powers of the Rajya Sabha?
Pl pa W (a) Three
1. The power to initiate a Money Bill
(b) Five
2. To declare a subject in the State
List as a subject of national (c) Seven
importance
(d) Ten

3. To impeach the President of India

40. In which year was a Cabinet resolution
replace the Planning
Commission with NITI Aayog?

Select the correct answer using the code

given below. passed to

@ 1,2 and 3

(@) 2014
(b) 2 only (b) 2015
(c) 2 and 3 only c) 2016
(d) 1 only (d) 2018

KASC-A-GIP/55A 15 [BTO.



41. Ffafea 4 & 5o ot @3 &1 @1d ‘&m0 (c) T4, R & Usgaw # fedt =fw w

ARY A & BY fafyy % www gaen | afem 78 =om)

(a) BqFG Fitaq (d) TSF, YRA % ToAad # R-AmRe #®
fafy % wne uan @ afea 7@ w0

(b) #EmE

(c) 3ifE =2 w2y

44, WHd ARl H gEm G % Fefefaa
qEgEl 4§ F9-91 98 FEdl £ B e

(@) T 9 5 5 =i 1 g, @agar iR | A g W=
AR 277
42. WA ¥ Frefefias # A frw oa § faum theg (a) T 1
T 27
(b) T 2
() faEr
(c) g7 3
(b) utem s
(d) =T 4
(c) T W
(d) wieh
45, fafafiga & @ F9-d wmwr vra & d@fqum $i
et g & wfier T 27
43. WNd % ®RYR & I Tee 14 F IGEN, @ &
faafafaa 4 @ F9-a1 a8 = 27
) PR % way e e arm TR (b} v
%I T 21
(c) Gt
(b)) & WG & UHAd # fEd =fe @@
fafeai =1 wwm svaor ghfem @ 2 (d) e
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41. Which one among the following legal (c) The State shall not deny to any
maxims means ‘we command’? person equality before law within
the territory of India.

(a) Habeas corpus
(d) The State shall not deny to
(b) Mandamus non-citizens equality before law
within the territory of India.

(c) Audi alteram partem

(d) Non bis in idem 44, Which one of the following provisions of
the Universal Declaration of Human
Rights states, “Everyone has the right to

life, li i P
42. Which one of the following States of India E; HRerty i Mooty of P

does not have a Legislative Council?

(a) Article 1
(a) Bihar

(b) Article 2
(b) West Bengal

(c) Article 3
(c) Uttar Pradesh

(d) Article 4

(d) Karnataka

45. Which one of the following languages is
not included in the Eighth Schedule of

43. Which one among the following is not
the Constitution of India?

correct as per Article 14 of the
Constitution of India?

(a) Bodo
{a) Equality before law is guaranteed
to citizens of India only. (b) Maithili
(b) 1t secures for any person equal (c) Santhali
protection of laws within the
territory of India. (d) Ladakhi
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46. UF FUA IJ9A @ A7 ' s o famrE

YR W FA B | HO F A= e femfeai
# 25% ®™, 20% T 3R 20% w1 Bt 21
oAt i et fordt ® =mew fRa @ @
e =1 Bt =ifee @1 @ For femam #
1T | B

(@) 20% @™

(b) 20% wA

() 25% @™

(d) 25% &

47. Fafafiea Imea = 9= w0 27

1 1 1

(J§+ﬁ)+{\f3—+-\f§)+(ﬂ+-\/§}+m
1

+(-J]00+-\f9_9)

(@ 9

(b) 8

© 7

[d 6
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48. F=fofaa Tea w fa=r $Hifso .

49, 7Ifg

@37 +46@ + S@3 = @@

39w e | @ Fefafaa 3 | R e
a1 87

(@) @t 3R H

(b) AT WH I H

(c) “ae fawm st A

(d) Tt 37 =1 78

625 =E,tﬁ x 1 HH F41 87
0625 x

(a) 0-0625

(b) 0-00625

c) 625

{d) 0-000625



46. A company calculates its profit or loss 48. Consider the following sum :

quarterly. The company makes 25%

profit, 20% loss and 20% loss in three @37 + 46@ + 5@3 = 1@ @
consecutive quarters. What minimum

profit or loss should the company make

in fourth quarter to have no loss

overall? In the above sum, @ stands for which

one among the following?

(@) 20% profit

(b) 20% loss (a) For all digits

0,
(c) 25% profit (b) For even digits only

d 25% 1
@ . (c) For odd digits only

(d) For no digits
47. What is the value of the following sum?

1 1 1
V) WB+2) Wa+dE)

1

: m 49. If 625 - E, then the value of x is
0-625 X
W o (a) 0-0625
o (b) 0-00625
o (c) 6:25
@ 6 (d) 0-000625
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50. ®E gUfy R #1 20 & & fouw swan s+

30 i & fom 3a= 31 3g wiw ®) 72 iy
M F Y e S F e e @ ¥
wte &7

53. wH wifwe % 3o @@ gl 2, S & W F

foru x i % foe w=im 21 20 T % 9., dm
F 25% He= W Bie 2d 1 7@ @ ™
9 @ aneft, 39 e B AP x et 9%

faem & o wafe 21 x &1 9 #1 87

(@ 12 e
(b) 15f& & 72
(¢ 11f& © 60
(d) 20 %= d 40

51. Tt avwg & fasa qoa i v g & @ W

3 _ 2
M.aﬁx:y=3:7,?ﬁ 6x” —2xy+y foraes

I 7:4 B W TG F ™ AR A6 e xy
% off #1 7guE w0 'Y L §
62
(@) 3:4 (a) 21
(b) 4:3 61
(b) i
fc) 5:4
63
(@ 7:3 €@ 5
64
o

52. UF 24 90 km/h #I nfd @ == @ 2, Fwh
@aE 335m 21 3 | H 290m @

e TR A H o o 55. R x F Jx % 80 B, A x 7 B?
(@) 25s (a) 100
b) 23s (b) 200
(€ 20s (c) 400
(d) 30 s (d) 800
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50. An amount is adequate to pay salaries to

R for 20 days or to S for 30 days. For
how many days is the money enough to
cover salaries of both of them together?

53. Assume there to be some foodstuff that is

sufficient for a team for x number of
days. After 20 days, 25% of team
members happen to quit. It is observed
that the remaining foodstuff is sufficient

(a) 12 days to feed the remaining members for
another x number of days. What is the
(b) 15 days value of x?
c) 11 days (a) 80
(d) 20 days (b) 72
{c) 60
51. The ratio between the sale price and the @ 40

cost price of an article is 7:4. What is
the ratio between the profit and the cost
price of that article?

2 _ 2
54. f x:y=3:7, then Sx =2pay is

xy

(@ 3:4 equal to
62
(b) 4:3 (a) 21
() S5:4 61
(b) EY

(@ 7:3
63
(c) Ei
52. A train with a length of 335m is 64
travelling at a speed of 90 km/h. What (d) F ot

is the time taken by the train to pass a

290 m long platform?
55. If Vx % of x is 80, then what is x?

(@ 25s (@ 100
(b)) 23s (b) 200
(g 20 s (c) 400
(d) 30 s (d) 800
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56. WA HATE U9 WEAS F wEd 13 #1 AR 59. 4 e AT 2

sl i T S wee @ i e 1+42+43
R forn s, & e T sfea #= e

(@) J2-J3+2
(@) 15-0
(b) 14-5 (b)) J2+3+2
() 13-5 (€ V2+6+2
(d) 13-0

(d) v2-J6+2

57. & Af IR R # 7 km =ear 8, 3R fiw
g 7d 1 3R 4 km Foa1 @ a1 R 3fam &
#R 4 km Jo1 8| 39 98 A9 q@ Fufa @
foraft 1 ofit formr foram & 27

(@) 5 km 2fer-qd fawn & 60. Frffaa wuE! sir frewl w fem A ;

(b) 5 km I-g3 fowm & 9 1: 38 P, Q&

() 15 km qd fam &t 3R %9 11 : 9% R, Q 2|

(@) 7 lem S o Y AR i 1:33 P, RE
foerd 11 : 5% R, PRI
58. ffafiga ==t & @ #F9-w, 273" # =8

wF w el oft 98 @ gFan, 9@ o0 @ I frewdl #§ @ FF-w/FR-8 ffE| w98

ST QUi &7 Tt s weha B /Frpret s w87
(@) 1 (a) Faa T 1

) 3 (b) aw frerd 11

c) 5 (c) Trewd 1 3R 11 3

(d 7 (d) T fremd 13T 0
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56. The average of seven consecutive natural 59. * is equal to
numbers is 13. If the next three 1+42+43
consecutive natural numbers are also
included, the new average will be @ VZ-3+2
(a) 15-0
(b) 145 (b) J2+43+2
fc) 13-5

fc) J2+/6+2
(d) 13:0
57. A man walks 7 km in the North direction. (@) N2-6+2

He then walks 4 km Eastward, and then
4 km Southward. How far and in which
direction is he now from his original
position? 60. Consider the following statements and

conclusions :

(a) 5 km in South-East direction
Statement I : Some P are Q.

(b) 5 km in North-East direction Statement II : Every R is Q.

() 15 km towards East direction Conclusion 1 : Some P are R

(d) 7 km towards North direction Conclusion II : Every R is P.
58. Which one among the following digits can Which of the above conclusions can be
never be at the units place in (273)", certainly drawn?

where n is a positive integer?

fa) Conclusion I only

(a) 1
(b) Conclusion II only
(b) 3
¢ 5 (c) Both conclusions I and II
d) 7 (d) Neither conclusion I nor II
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61. Afig demdl # Fmfafaa 4 9 fem &9 4 9 faw o g2 @ v o ad I g
Tee TR (2023) faen?

(@) a1
(a) ifd o e a
B e (c) 1 3R 22M
(el S (d @ 13T 2
(d) TEEH-TE

64. fr=fafaa d @ fras g o |@«, 2023 4

62. G20 ¥ frwa #, P # 3 Fe-m/#A-2 T v e A A w ad w  ad

?
i 2/47 FIFN T T R
1. o Fré wrh wfhaes @ ) (@) ST9H, MR, FHREAT TORT
2. T 20 Yy Ik I F W (b) ST, Fifen T, W
faftm: s siadda +w g wnfie R)
3. Weks 39 o QAT Ok W9l 2 (c) AR TR, WA, ST
4. G20 ¥ @9 @ ‘wurft afefmt’ 4 @ w (d) WA, T MRS, JAH
R
A9 g T g W R A IR IR 65. Frafufias & ¥ frl/feR 2023 # Tra fam
UL T /T & ®9 8 S e mn?
(@ 1 32
1. O, T
(b) Fa 4 2. SR F BIEEE 0w
) 334 3. wnfaf¥ekaq, afsm sme
4. THU AR
(d) 133
= fw v F = o = w3 g
(@ 1 3R 2

63. W T« feaw ¥ faww #, Fr=fafaa ot & @
FH-91/FA-8 T B/87 (b) Faa 3

1. ¥€ 28 W& & §91E1 e 2|

2. TE U HFEE ¥ SN aibsicdd W
gl 21 (d) a2 3R 3

(c) 2, 33MW4
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61. Narges Mohammadi received the Nobel Select the correct answer using the code

Prize (2023) in which one of the given below.
following fields? (@) 1 only

(a) Peace (b) 2 only

(b) Physiology (c) Both 1 and 2
(c) Medicine (d) Neither 1 nor 2
({d) Chemistry

64. Which one of the following represents
the correct sequence of countries in
ascending order of Gold Medals won
in the Asian Games, 20237

62. Which of the following is/are correct
about G207?

1. It has no permanent secretariat. (@) Japan, India, Republic of Korea

2. It was founded on a legally binding

- = (b) Japan, Republic of Korea, India
international agreement between

20 top industrialized countries. (c) Republic of Korea, India, Japan
3. Each country is led by a Sherpa. (d) India, Republic of Korea, Japan
4, Spain is one of the two ‘Permanent
Invitees’ to G20. 65. Which among the following was/were
declared UNESCOQO’s World Heritage
Select the correct answer using the code Site/Sites in 2023?
given below. 1. Dholavira, Gujarat
2. Hoysala Temple of Belur
(@) 1 and 2
3. Santiniketan, West Bengal
(b) 4 only
4. Ramappa Temple
fc) 3 and 4
Select the correct answer using the code
@ laud3 given below.
63. Which of the following statements about (@ 1 and 2
the National Sports Day is/are correct?
(b) 3 only

1. It is observed on 28th February.
(c) 2, 3 and 4
2. It coincides with the birth

anniversary of Major Dhyan Chand. (d) 2 and 3 only
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66. TF, UH HaHvl Uk, f99 fewrw 2023 #

yRdg e w5 d@w o, % e §
fr=fafga wa=i w fGam fifsw

1. 38 | wafis qfest § @ s,
FeoEl W W @ iR Em-ais
BTSSRI TAH HET 2|

2. 39 9E = i @ AR A sgeEe
& fou wqz-fagm v pitfedm 2=
A F % forg e man 2y

I FYEl § § RE-A1/F-2 98 2/E7

(@) Fa4 1

(b) wEA 2

c) 1 3 2aH

(d @ 1RAEH2

67. Tfafas # & fF % 3 99 gER, 2023

Sfran?

(@) z &=

(b) @ EI3E A% S
(c) T A% T2 form
(d) Y%z G

68. WRA WHR W Tfifeq ammE (Hio o Hfio)

% ITE F Wiewlfed 4 & foo Fafafas 4

¥ #A-31 399 fen o1 @ R/#9-8 3um fag

ST @ 87

¥ m-ﬂiot{.ﬁoﬁﬁo%m%mm
wfya * 7 w2 faeia wema wm
FET

2. Hio dto Sfto uREISFIAT 1 WrufieRar &
HU % dEd qEE

3. iR # wfua @ F fou swufaa
wufl & s & fore Hiwn-yes § g2

KASC-A-GIP/55A

Fra fau o 2 @1 wEm = wd I gh)
(@) Faa 1 3R 2
(b) Haw 2 3R 3
() 1,23M3

(d) Fa 1

69. foeamn dE-w@R W@ F fww #@,

Freferfiga § & -w1 Fom wd T 27
(a) TE ITFEYE T 4 B

(b) IR TRUM HEWF GRS W R
(c) T® TEA TIWEI-134 R 9|

(d) TE Fmiv yredE e asmm wite
g R s @ )

70. dto 3@o o o We uwEHe F AW #,

Frafafiaa § & #F-w1 Fo@ w8 & 27

(@) & Wd, fagaam it ameRw # &=
UF U 8 e R

(b) TEE! TATET 2018 H §F i)

(c) TAF TEEN TR FaaAR d A
o mmam)

(d) 2023 ®, IRAE g B S oA J9
=1 gefife iz wnfiyer on)



66. Consider the following statements about

Sandhayak, a Survey Vessel Ship,
which was delivered to the Indian Navy
in December 2023 :

1. One of the primary roles of the Ship
is to make a full-scale coastal and
deep-water hydrographic survey of
ports.

2. The Ship is made to collect
oceanographic and geophysical
data for defence and civil
applications.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(¢) Both 1 and 2

(d) Neither 1 nor 2

67. Which one among the following books is

the winner of the Booker Prize, 20237
(a) The Bee Sting

(b) The House of Doors

(c) A Spell of Good Things

(d) Prophet Song

68. Which of the following is/are the

measure/measures undertaken by the

Government of India to promote the

production of Compressed Bio-Gas

(CBG)?

1. Central financial assistance for
setting up of plants for generation
of Bio-CNG

2. Inclusion of CBG projects under
Priority Sector Lending

3. Concession on customs duty for
the import of machinery required
for setting up of projects

KASC-A-GIP/S5A
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70. Which one

Select the correct answer using the code
given below.

fa) 1 and 2 only
(b) 2 and 3 only
(¢ 1,2 and 3

(d) 1 only

69. Which one of the following statements

about ‘Silkyara Bend-Barkot Tunnel’ is
not correct?

(a) 1t is in the State of Uttarakhand.

(b) Itis a part of ‘Chardham Mahamarg
Pariyojana’.

(c) 1t falls along NH-134.

(d) It is being built by the National
Highways Authority of India.

among the following
statements about VINBAX is not

correct?
(@ It is a Joint Military Exercise

between India, Vietnam and
Bangladesh.

(b) 1t was instituted in 2018.

(c) Its first edition was conducted at
Jabalpur.

(d) In 2023, Indian contingent
comprised the Engineer Regiment
of the Bengal Engineer Group.
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71. wEifE wWReg A (o Tuo Hio) F v

#, fafafaa & & #9-w1 %9 w8 76 27

(@ 2012 & ®F% TE 12 = =
‘It gEie Ere wae faw
F ®9 § W1 @ 2

(b) Fo TWHo Hio I E-T (W) I B
& yew =fe 1 el SR w
Wy ¥4 9% Ugd U A

(c) waa foawm @ #1 98 W@ @ed 2|

(d) FEEd FaE, d91 Faw i i
TN Jo THo Hio & 3WM F|

72. TEe o fadw s (Ste 3o Hio To)

% fawz #, Feafofes 99 = f=m fifw

1. 98 9ol Witk HATd, WRd GR & 3H
W w=s T feE F Gy § afaw
-9l 1 U EEYH 2

2. Sfto 3o Hio Yo TH IS TS 2, S
11 291 % 275 ¥ it afas &-ved
1 wfhe = 2|

I FuEl § ¥ FA-w1/FA-E T B/E7
(a) Had 1

(b) Fa 2

(c) 1 3w 2 eEt

(d) Jd13MAH2
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. 9RA # wE glawst & way 84, fefafea 3

¥ FH-91 94 98 T8 87

(@) eh-@f w gd-gwenerst (df-faferem)
AR 7 2

(b) WRA % g THE FrEA Fa i
(To To Telo WHo Ue) F W&H-Ug@
2

(c) afurfsus amel F1 @e & foe 9yra |
fafim st w sl anfifses =
£

(d) Yva # FB A FeRea fafeea
e = §)

74, A ¥ fFafafaa 4 @ e =99 #1 2014-

2015 ¥ 2023-2024 T FMU THAEN W
9-firem % wea wiwam ofin wm g 27

(@) 3TY TN
(b) FAeE

(c) F W
(d) T g

75. UNFCCC-CcOP28 fa=fefiga # @ form e &

sfeE B e an?
(@) M TA-IE

(b) 7%
(c) TN

(d) =%



71. Which one among the following 73. Which one among the following

statements about Universal Health statements with regard to the legal
Coverage (UHC) is not correct? facilities in India is neot correct?
(a) The United Nations is observing (a) Tele-Law is a pre-litigation advice
12th December as the mechanism.
‘International Universal Health
Coverage Day’ since 2012. (b) The President of India is Patron-in-
Chief of National Legal Services
(b)) UHC’s motto is that everyone Authority (NALSA).
should have access to quality and
affordable healthcare. (¢) There are dedicated Commercial

Courts at various places in India to

(c) It is a central aspect of Sustainable handle commercial cases.

Development Goals.
(d) Some courts in India are paperless

(d) Population coverage, service Digital Commercial Courts.

coverage and financial protection

are dimensions of UHC. )
74. Which one among the following States

in India has received maximum funds
under Sub-Mission on Agriculture

72. Consider the following statements about Mechanization from 2014-2015 to

the Global River Cities Alliance (GRCA) :

2023-2024?
1. It is an alliance of global river cities
led by the National Mission for (a) Andhra Pradesh
Clean Ganga under the Ministry of
Jal Shakti, Government of India. (b) Karnataka
2. GRCA is a unique alliance covering (¢) Uttar Pradesh
more than 275 global river cities in
11 countries. (d) Madhya Pradesh

Which of the statements given above
is/are correct? 75. UNFCCC-COP28 was held in which one
of the following cities?

(@) 1 only (a) Sharm el-Sheikh
(b) 2 only (b) Dubai

(c) Both 1 and 2 (c) Glasgow

(d) Neither 1 nor 2 (d) Baku
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HIT
of

76. Tdo Fo WHo UWelo W, 7T w3 f48l # o
foru Mo gfepie # @iem # foe Frefafaa 3
¥ faraes v fan sian 27

(a) _self (b) _link
(c) _blank (d) _open

77. Ifede FER weifen @ F wed #,
ioaowowmmw%?
(@) IFFIE ZTEFHIA e
(b) I TEHHIA BIH
(c) Tt ZTEHHIA HiHe
(d) T ZEHHIA HiH

78. Awl i wgaw VgTEe gf w0 R7
(a) fae (b) W
(c) =% (@ Fa=

79. Fafafas 4 @ ®9-w/aF-8 =l faama
B/27
1. 3Fara
2. TEAGHH

i faw o e @ W W A I g
(@) Fad 1

(b) Fa 2

fc) 13 2aH

(d Fa13IMAH2

80. Tt gz wmei #, fafga wemsdt (w=
) # fFaE g Fefia Tt fen s o
144
(a) Tafga afem (g AfiesgE)
(b) T H G (I Hifree)
(c) @1 G (ZH Fifrere)
(d) == ufEm (weie Afege)
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HIITA

81.

82.

83.

84,

85.

fe=m w wwR

(a) @ R 2

(b) WIE =R ?

(c) MR R

(d) oz =R R

Fr=fafaa & @ FF-a1, 34 F o7 w@ it
F fou sifewa 2w fwew § aam g 87
(@) TS W

(b) S TEH

(c) ETA FHEM (S W1Ee)

(d) 3= F T FH

THo THo UFHH T 27

(a) T (Ferema) Fo dfo Wo wo

(b) 2T o Hio WHo THo

(c) h@eft (AfssiFe-3diftuzg) o o
THo THo
EHFENE (TEIEEFA) Lo do THo
E-Ho

(d)

3o THo FMEo Hizd F fobw v W, vw ‘frdied’
yafora =ian 27

(a) fsforeer

(b) = forw

(c) ek

(d) WSiIH

4A9-2B F TIWEE HH FT 87
(@ 1193:1679
(b) 119:31679
c) 11-931679
(d) 11931679



PART—B
PROFESSIONAL SKILL

76. In HTML, which one of the following is 81. Histogram is a type of
used to open the linked document in a (@) line chart
new browser window? b Lo L
ie ¢
(a) _self (b) _link ) P
(¢) _blank (d) _open (c) bar chart

(d) donut chart
77. In the context of universal character
encoding standard, UTF stands for 82. Which one of the following is the medium

(a) Unicode Transformation Format in optical storage system for reading

(b) Unicode Transformation Form and recording data?

() Unique Transformation Format (a) Ultraviolet light
(d) Unique Transformation Form (b) Laser light
(c) Black light

78. The smallest addressable wunit of i -
(d) High-energy visible light

memory is
fa} bix () byte 83. MS Access is a/an
(c) word (d) nibble _
(a) relational DBMS
79. Which of the following is/are pointing (b) network DBMS
device/devices? (c) object-oriented DBMS
1. Trackball

(d) hierarchical DBMS
2. Touchscreen

Select the correct answer using the code 84. On which layer of the OSI model does a
given below. ‘repeater’ operate?

(a) 1 only (a) Physical

(b) 2 only (b) Data link

(c) Both 1 and 2 (c) Network

(d) Neither 1 nor 2 (d) Presentation

80. In a computer system, the signed

. ¢ be represented by 85. The decimal value of 4A9-2B is

(@) 1193-1679
(b) 119-31679

(a) signed magnitude
(b) one’s complement
(c) two’s complement (c) 11-931679
(d) float magnitude (d) 1-1931679
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86. ¥fdar R JHUH F way #, Faww &

IftFRl # w9N TEd T uw ey, e
3in Aol v foredft aremfer oftfedfa & @
4 Fes § emers 8 wwar @ 3R wewE ®§
Srelepferes < TH B Fehar 21

seifis guan ¥ fou fafafas & @ fa
wedl # 7' FYA waius I 27

(a) WTQSTIT
(b) TEATA F AH FHaTE
(c) YA F AH HHATE

(d) afda TR-vEA

87. i wu3 & y= g fom foawm =4 #,

Frafafaa § @ FW-w TeamEs sufia T 27
(a) Iufeufa Foee

(b) aTER T

(c) T TR

(d) Iy TR

88. U a1ed (FW &4) F Tl I ag wEn #

g o 94 wvg Ffafies & @ /e
arq /A = fae wm v =nfea?

1. rrEfsm gde

2. el gfom sttt
3. oyufde FrammE aitEds
4. I ety

KASC-A-GIP/S5A

32

2 fau U g2 1 W@ W A W ghu)
(@ 1 3R 2
(b) 233
) 334
(d) *a@ 1

89. wHF Fard arelt el ufwfm dam (Wfer

90.

at) = sfefes ggdew, Peffe § @
i o e e

1. i W FER aR S
2. A (TEH) TIE
3. e aR SE

= faw e e 1 W@ = wd IW g
(@) FEa 1 3R 2
(b) Fae 1 3R 3
() 1,23R3
(d) *ae 2 3R 3

‘s IuwEn’ @ R sggfea sem | d@e g

F1E A Afa B 3R 9% iwta fordt o=
T8 I 71 R T8 =R, FRER 91 99 |
M gen IwEA ot @ PR owwe ffy g
fafafm w1 = s gen T@
wfufm, 1968 #it Fr=fafaa & @ feg um
o 24 w87

(@) € 2(1)(a)
(b) | 2(1)(b)
(e) U 2(1)(c)

(d) &/ 2(1)(d)



86. While maintaining the employer’s rights Select the correct answer using the code
in respect of trespass and damage, given below.
an impartial, courteous and friendly

attitude can yield dividends in taking (@ 1 and 2

the heat out of an immediate situation (b) 2 and 3

and yield long-term dividends in the

form of goodwill. (c) 3 and 4
(d) 1 only

In which one among the following
references will this statement be most

appropriate for industrial security? 89. A perimeter wall of standard height

should have further reinforcement with

which of the following?
(a) Counter-intelligence -
1. Barbed wire on top

(b) Action during strike 2. Setting spikes

3. Concertina wire
(c) Action during patrolling

Select the correct answer using the code
(d) Enhanced housekeeping given below.

fa) 1 and 2 only
87. Which one of the following documents is

not required in the control room of the (b) 1 and 3 only
i ?
main gate of a plant? ©) 1,8 and 3

(a) Attendance register (d) 2 and 3 only

(b) Vehicle register 90. Industrial undertaking’ means any
undertaking pertaining to a scheduled
industry, and includes an undertaking
(d) Crime register engaged in any other industry, or in any
trade, business or service which may be
regulated by the Parliament by law.
Which one among the following Sections
of the CISF Act, 1968 defines this?

(¢) Standing order

88. The drivers of the cash vans, while
carrying heavy cash, should pay special
attention to which of the following?

1. Staged accidents (@) Section 2(1)(a)
2. Fake police officers (b) Section 2(1)(b)
3. Expected traffic diversions (c) Section 2(1)(c)
4. Normal speed breakers (d) Section 2(1)(d)
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91. 7Rt s ‘wfimy’ d & siwfa wum W= A 94, fimfafas § & #H-8, wfiwmwe foswm @&

21 = i ity wg-dim W wE @ | (v feiwer fawem) & yam &7
e T 3 3R I I9F qEq 4 a9 H FA 1. - (32) T
ot it oft, A Fl Al gean e eh 5 il
el Fnferfiaa § @ for oy @ o w1 27 ' ;
aﬁ 3. W‘W(ﬁ)m
= 4, dwE-a7 ()
EL ]
& = fou mu g2 = W@ W= wd I g
c) 2974
(@) Fae 1 3R 3
(d) 304
(b) Fa« 2, 3 3R 4
92. o Hlo o wHo ¥ fawn-fdwl & IrgEw, wwa (c) Faa 1, 23R 4

# i siqdeia Igm W et e anft g«
N % fou sgEa Fomr B afvwan wied
warg fRat 27

(@) 4% %S F Y FA d@8 7

@d 1,2, 334

95. ¥Fw mifis T W@ F "W IA
fedrgargw, whifdm ik pia: gafea =@

(b) FUE 6 39 F wiE F Y FA @GR @y (s fam) #) 7 feafafas & @ fres
9% R, s i sl & s @ g
(c) FF 6 39 & =i F WY FA @9 e e 47
10§ (a) Toegd w5
(d) FF 4 39 F oS & WY FA a4 (b) A GH
9%
| (c) o« Tree
93. ¥ i gen sw sifufEm, 1968 # (d) 3 G
frm ad U o GeieE & 3 FR GER B

wra & drnfers it % 9w 39 9 5

R w1 el o e e 96. 1 AfiE gEn I« # ey Fefafed

vl 8 R A # ¥ form fawmasa w & foen man an?
(@ 1983 @

(b) 1989 (b) SIH

(c) 1999 (c) HFAE

(d) 2009 (d) T
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91. In case you had joined the armed forces

at the upper age limit of 21 years under
the ‘Agneepath’ Scheme in the first
batch and you had served 4 years, you
can be recruited by CISF until the age of

(@)
(b)
(c)
(d)

27 years
28 years
29 years

30 years

92. As per the BCAS guidelines, what is the

maximum permissible length of a
Kirpan allowed to be carried by a Sikh
passenger on a domestic flight within
India?

(a) 7 inches total length with a blade of
4 inches

(b) 9 inches total length with a blade

not exceeding 6 inches

{c) 10 inches total length with a blade

not exceeding 6 inches

{d) 9 inches total length with a blade

not exceeding 4 inches

93. In which year did the amendment to the

CISF Act, 1968 enhance the territorial
purview of the force by enabling the
Central Government to deploy it outside
the geographical jurisdiction of India?

(@)
(b)
(c)
(d)

1983
1989
1999

2009
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94, Which of the following are the types of

fire sprinkler systems?

1. Wet pipe
2. Pre-action
3. Dry pipe
4. Deluge

Select the correct answer using the code
given below.

(a) 1 and 3 only
(b) 2, 3 and 4 only
(c) 1, 2 and 4 only

(d 1,2, 3 and 4

95. CISF has a highly specialized, trained

96.

35

and fully equipped fire wing. It provides
fire coverage to industrial establish-
ments, except
(a) power plants
(b) coal mines
(c) oil refineries
(d) fertilizer plants
CISF was first inducted in which one
among the following airports?
(a) New Delhi
(b) Jaipur
{c) Amritsar

(d) Mumbai
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97. T ITERI A Hio Ao Ho w1 Fwfa = 100. Fr=fefas & @ #9-8 g1 Fns &, S @A

&7 3R YavR F wHYE F uwfEe w=@ §?
Eici
(@) FdEIEE 1.
& _ 2. M IR fEEm
) S-S 3. wrr & fawm
(c) Himm frdtex zgfim 4. F9-8-79 9 § Aftm-a-aafus e
fimm 6 arwa
(d) 394 | & FI T
9 fw o e w1 wEm W e I gR)
o8, freifrfian & & A, A-HW (FresHE) @ %1, 2303
sir - (fFw) % siwia BRR & T=E (b) Fa 2 3N 4
% for sepfaes e i 27 (c) ¥Fam 1, 3 34
(@) @E 9 d 1,2, 334
b . 101. F= hefe g @@ sfufEm, 1968 &
(c) wTE o 1§, Prefafes & @ ¥9-w1/89-8 Fw=
d 2/&7
o Ten—n 1. ¥ MOfm gon va sRPeE @
g/ 10, SI-GaE1 % Fd=d 4 gatvd 21
99, #F-Frel (Fleewe) i W-wwE (fFeT) 2. %= IEfE gen aa AuftEm Hi
¥ afy fraw sy # e gu ohwfa Rl 11, 9R2 ¥ fa fnwar &9 6
T T 27 oifts & waiftra 21
1. 1o 3. ¥m sheifis g aw st A
2. Wi % wEen () ;‘gm%q;ﬂ@mﬁmﬂ
S R 4. ¥du AR g T SRPE B
4. WA R uwT 13, AWz % fen qemh 4% B ks
9 fiw T 2 F W = wd Iw g 4 gafea B
(@) ¥ 1, 2 3R 3 e R e e @ e R 3w g
(@) 1 34
(b) Faw 2 3N 4 S B
(c) ¥a= 1, 334 © 132
d) 1,2, 334 (d) Fae 2
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97. CRT in the context of security equipment 100. Which among the following are the main

stands for factors that affect the formation of
platoon and section?
fa) Cathode Ray Tube 1. Terrain

2. Command and control
3. Direction of fire
4

Maximum firepower within
minimum time

(b) Central Research Transponder
fc) Common Repeater Timing

(d) None of the above
Select the correct answer using the code

given below.

98. Which one among the following is not a
natural cover from fire in fieldcraft and
tactics? (b) 2 and 4 only

fc) 1, 3 and 4 only

(a) 1, 2 and 3 only

(a) Ravine
(d 1,2, 3 and 4
(b) Hollow
101. With reference to the CISF Act, 1968,
c) Bush which of the following statements is/are

correct?

1. Section 10 of the CISF Act deals
with the duties of the members of

(d) Reverse slope

99, Fire control order in fieldcraft and tactics the force.
is defined by which of the following? 2. Section 11 of the CISF Act deals
with the powers of arrest without
1. Group warrant.
2. Range 3. Section 12 of the CISF Act deals
3. Indication of target with the procedure to be followed
after arrest.
4. Type of fire 4. Section 13 of the CISF Act deals

with the powers of s h without
Select the correct answer using the code G

warrant.
given below.
Select the correct answer using the code
i below.
(a) 1, 2 and 3 only given below
fa) 1 and 4
(b) 2 and 4 only
(b) 2 and 3
(c) 1, 3 and 4 only i Lsdia
(d 1,2,3 and 4 (d) 2 only
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102. F= fafae Gand (affeon, Frmwr sin andie)
Frammaett, 1965 % sER, Frefafaa 4 @
FH frdt Wt wief w fefa =3 %
fore wam wifterd i 27

(a) Tgfer wfteeedt

(b) e W wived, fafe wited e
ey 2

(c) FITeERE it
(d) T wftes

103. F=r fafaw damd (sm=w) Fameed, 1964 %
HFeR, Frafafa & & #9-d ofafafy & oo

fafea witmt it w=figfa/omfa

vl TE 27

(@) Tofem wnm ¥ 4 wudew F w9 @
e g

(b) Tz dafadt @ IR =fwr w=o@, w=
gy fafga dar @ stfees &

(c) Tt Bl o1 greiafe Gem o =fs &
for forn o w1l 3g Yo Wl
(d) ¥WG Ya% U g HAHE gwer #

Grefl T9T F FE AT A=

104, ifia gt &t fafafaa 4 4 e ag s
1 A 27

(a) S &, -3 gd, vl g
(b) R g, Wi gd, v gd
(c) wvd-ae @, wfa g2, s gl
(d) e g, fige gd, s g,

AT Gal
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105. gl Im fama (ueto o dio) w1 @M wd

T 10 T a% ft aifvla g@t F T &
o, Fdieo it safy F ara-g & s @
g i safy % e § 99 g, fd
wEH FHE F @ § F9-9-F0 e =
$ gt I o =fee?

(@ 180 f&

(b) 30 fa@=

(c) 90 f=

(d) 300 f&

106. ¥ enfe gean ae & 99 T (S wiE)

=t frafefes & & fRd/fed vt o weamd
& foru wftfea foran stran 87

1. =i ahrEm

2. @E (Tl vard)

3. 3R UF aEH ¥ @ T @ gy
4, 3o %o Tho

= fo T g2 @ W W wd I ghg
(@ 1 32
(b) Fa 2
(c) 133

(d) 23R4



102. As per the CCS (CCA) Rules, 1965, 105. For an encashment of earned leave of
which one among the following is not up to 10 days at the time of availing
the competent authority to place a LTC, a balance of at least how many
government servant under suspension? doys ' ahould be - awiladie -3 . &
(a) Appointing authority government servant’s credit after taking

into account the period of encashment

(b) Any authority, to which the [ L
as well as leave being availed of ?

appointing authority is subordinate

(c) Disciplinary authority (a) 180 days

d) Inquiry authori

f q 2 (b) 30 days
103. As per the CCS (Conduct) Rules, 1964, (c) 90 days

which one among the following activities
does not require sanction/permission of

the prescribed authority? (d) 300 days

(a) To join as volunteers in civil
defence service

(b) To accept gifts from near relatives,

“f’h‘?tn valie. excesds preacribed 100 The.dos aqund of CISF is teained to sellf
limits
and identify which of the following?

(c) To accept fee for work done for any

private or public body, or person 1. Metallic weapons

(d) To participate in Shramdaan 2. Narcotics
orggmzcd by l?harat SeYH Suri) 3. Pickle and smuggled food items
during spare time

4. IEDs

104. Earned leave can be combined with
which of the following? Select the correct answer using the code

(a) Casual leave, half pay Ileave, given below.

maternity leave

(b) Casual leave, maternity leave, (a¢) 1 and 2

study leave

2 onl

(c) Half pay leave, maternity leave, sick () onv

1

cave (¢ 1and3
(d) Casual leave, paternity leave, sick

leave, study leave (d) 2 and 4

KASC-A-GIP/55A 39 [P T.O!



107. @4 2006 #, F=A s gan 9a 4 gea-

WTH @RI G WeW #A & fore fase gran
e (e WHo Sffe) mw fafire g
ot it | Fefafaa 3 | F9-w, 39% Fd
&1 foemn 7t 27

(@) TR GL&m YoM FE

(b) Tt wua foafa & guan-wm @t
Freprern

c) “m-ffés =afwat # 9@ W 3=
feufoat & gran wam w0

(d) GuEn-STH @ % wEivE 3R et @
AT W AT

108. ¥4 34 IFGW H 1 FEd & o@ @ e

TiteR-am =afth F IR 3R @3 T T8
Tuifa & % 3 foreft @ @ oomwa &, o3 3@
=fth # 99 % I @ 3}, @ 9% 5 T
=fth 39 ® # FH F A0 gegwa 7 @ T,
S &l aTEd 27

(@) wFAg

(b) TR Y
(c) -TETEET
(d) RE

109. = fafim @@l @ wwa i s wwd 21

Frafofigs & & #9-w1, G @ F9 F
faue v Tt 27

(a) I9E 30 UW BfEi (39)
(b) e (I9ETEH) G
(c) Fa-3EtE (FT@2E) =1

(d) TEat (ofsFes) & WeAm @ um
HAHER
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110. F=fafEa 4 § F9-91, a0 dg=q 3R Fuem

zE@ (o Fo Fo wHo) IFER = fewr A
27

(@) freifis Afgee
(b) W =H

(c) TEq wemht ug @ (I w dew
fedan)

(@) Y+l =m

111. wfEft @y m +=3 * foo et wfearft g

IEM A T FREM W T H ¥y i
Iafeer =t =t T e San 27

(a) ¥aEm (dErRw)
(b) =EETHE FHE (FFEY)
(c) iranfire et (Fsfeme ufdsrmes)

(d) wergET (FRa-gfosE)

112. = e & U & o =g ania dma

o sira §1 wRa , g wdl Prafafaa 4 |
fore@ 1 st 27

(a) Togft gfem
(b) TAe UHo Eil)
(c) THo o Sfto

(d) Hio 2120 THo UHo



107. In 2006, CISF raised a special unit called

the Special Security Group (SSG) to
provide security cover to protectees.
Which of the following is not a part of
its duty?

(a) Providing physical protection

(b) Evacuation of the protectees in
case of an emergency

(c) Providing mobile and static security
cover to nominated persons

(d) Providing protection to the relatives
and guests of the protectees

108. What do we call an occasion when people

show that they disagree with something
by standing around a person in
authority and not letting the person
leave until the person agrees to do what
the people want?

(a) Confinement
(b) Wrongful restraint
(c) Blockade

(d) Gherao

109. Intelligence can be collected from various

sources. Which one among the following
is not a reliable source for collection of
intelligence?

(a) Images obtained by satellites
(b) Grapevine communication
(c) Intercepted communication

(d) Information obtained

espionage

through
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110. Which one among the following is not a

part of Bomb Detection and Disposal
Squad (BDDS) equipment?

(a) Telescopic manipulator

(b) Bomb blanket

(c) Deep search metal detector

(d) Smoke bomb

111. The illegal and unethical theft of

business secrets for use by a competitor
to achieve a competitive advantage is
known as

(a) sabotage

(b} subversion

(c) industrial espionage

(d) counter-intelligence

112. Sky Marshals are deployed to prevent

hijacking. In India, they are recruited
from

(a) Delhi Police

(b) NSG
(c) SPG
(d) CISF

[ P.T.O.



113. 33F | Hiawa BH # forw v §% 3 g A
& 9 % gay #, F=ffaa § @ #¥9-a1 w9
Het 27

(@) o e & 3T Hit rgufa B

(b) e wmE A g A A sEEa )

(c) Ffam wmm & urr ¥ i sgafa B

() Trfiepa qam & 2 6 sl 2

114, Jfom (Fe-3dww) wfufem, 1922, .
A g 99 F wee W I g @n
g S o6 7' g @ % wew woemy g
21 FE i gan 9w afufem, 1968
#1 FA-H g 77 Fedt 27

(a) 91T 18

(b) W 19

(c) €™ 20

(d) = 21
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115. 3% ¥ 99 99 99 JGd Hed ¥ Mg

TEES B ARNE uwEal # getE ek
% ae forn s anfee, o 3=

1. wEw Jfes & w9 4 (Fm |) B
foran s =R

2. waw =it % = 4 fufgs R s
a1fee

3. witefia & =g # fafga fn s anfdu
4. wF I fawrs § gen s =i

H2 R e g2 w1 W@ W @ s gy
(@) 1,234
() 2,33R4
) 1,23R3

(d) Faet 1 3R 4

116. & AT (WHe THo TWo) £ ﬂﬁ?@m =+

Fgan, Fefafaa 4 @ #9-w, = ae
gfera @@ (Hio wo o uho) e 27

(@) THo THo o
(b) TAo THo Sfto
(c) TR UsHeH

(d) TEo o Sfto



113. Which one of the following statements

with regard to carrying power banks for
mobile phones and dry cells in flight is
correct?

{a) Both are allowed in cabin baggage.

(b) Dry cell is allowed in cabin
baggage.

(c) Power bank is allowed in cabin
baggage.

(d) Both are allowed in registered
baggage.

114. The Police (Incitement to Disaffection)

Act, 1922 shall apply to members of the
CISF as it applies to members of a Police
Force. Which Section of the CISF Act,
1968 says this?

(a) Section 18

(b) Section 19

fc) Section 20

(d) Section 21
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115. Vitally confidential documents passing

through the post should be enclosed in
an envelope addressed to the intended
recipient, and they should be

1. marked as strictly personal (by
name)

2. marked as strictly private
3. marked as restricted

4. put into another envelope

Select the correct answer using the code
given below.

(@ 1, 2 and 4

() 2,3 and 4

& 1,2-and'3

(d) 1 and 4 only

116. As per the MHA notification, which one

among the following is not a CAPF?

(a) SSB

(b) NSG

(c) Assam Rifles

(d) SPG

[P.T.O.



117. ¥ vear &3 8, Frafafas 4 @ fee 9 @
A W A i g s fogeen
War i g 27

(@) =
(b) U ATEA
(c) & =

(d) TG TEESH

118, =9 Ienfs gan 7w aufufem, 1968 *
wed d, fFfafes 4 @ fF-w/F8-3 F=
wdt it /87

1. 9 8, 3@ o« * e 3R wrew |
atua 81

2. W w9 & AHE FEw wwr #§ ffka
&R

3. 39 9 ¥ GHRYE 3R wHagu gEifidye
7 fafga g

4. W 99 F YEA weEitEs d ffga
BT

e faw e 2 1w = wd 3w g
(@) 134
(b) 23W 4
(c) 233

(d) Had 1
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119. §9 Wiflgy yegq #, fr=fefas & ¥ F9-3

it &7
1.
2. ¥F Y=\

3. f fgao

4. ftm A

i faw e e 1 M W wd I gh)
(@) ¥ 1, 2 3R 3

(b) @ 3 3K 4

(c) Fa=a 1, 23R 4

(d 1,2, 334

120. &F-#ve (Fleswe) 4, e F4 99d o

F T Fan 27
1. ¥& Uyt a9 &
2. v o sme-w % feel @ 9w @

3. ¥@ 3@ T IR Fom F g wEh
g /Fh of &

4. w49 A I H wE @R A
2 fow T g2 = WM R I gh)
(a) %3 1, 2 3R 3

(b) Fa@ 3 3R 4

(c) ¥ 1, 2 3R 4

(d) 1,2, 334



117. In the National Capital Region, on which

one of the following metro rail lines is
CISF cover not provided?

(a) Blue Line

(b) Aqua Line

(c) Magenta Line

(d) Airport Express Line

118. With reference to the CISF Act, 1968,

which of the following statements is/are
not correct?

1. Section 8 deals with the super-
intendence and administration of
the Force,

2. The superintendence of the Force
shall vest in the Central
Government.

3. The command and supervision of
the Force shall vest in the Director
General.

4. The administration of the Force
shall vest in the Inspector General.

Select the correct answer using the code
given below.

(@) 1 and 4

(b) 2 and 4

() 2 and 3

(d) 1 only
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119. Which of the following are included in

total risk management?

1. Safety

2. Fire prevention

3. Damage control

4. Insurance functions

Select the correct answer using the code
given below.

(a) 1, 2 and 3 only
(b) 3 and 4 only
{¢) 1, 2 and 4 only

(d 1,2, 3 and 4

120. In fieldcraft, distance is underestimated

when
1. the light is bright

2. the object is large in relation to its
surroundings

3. there is compressed/low-lying
ground between the observer and
the object

4. looking uphill

Select the correct answer using the code
given below.

fa) 1, 2 and 3 only
(b) 3 and 4 only
() 1, 2 and 4 only

(d) 1,2, 3 and 4

[ P.T.O.



121. fft wm = s, faft & smgew, fd

FHal % 999 ¥ 3G FvEE hi FAd Iuh!
gt dvm ffY & s %@ & fow e @
Afet 3@ s @ W, S A g
aufea 2| P

(@) 3| TR H T FA F A o 7wt
ot fafer & snefim i ooy 78 =3+
Tt &

(b) faft =1 srfesmo w1 #1 3 B sk
Fad o o faum & e 4=
g

(c) vndm ds dfgar, 1860 & A
ST =TT #E 1 A aem

(d) vRdE ¥8 Higa, 1860 * HH
ST =TT F w6 A T R

122. Frafafaa 4 @ e/ o /e # oo

Isfia FwrraTE o afea o s wwar 27

1. 961 A & ®9 7 I A AA 9
forelt famfor =1 78 =@ F foo afy g
fife

2. HHa-fowE % &9 # Iw@m A A 9
ol 7= @t B F9 F o fawwes vard
g fife

= fow 7w 2 w1 @R W EE IR gR)
(@) F&a 1

(b) Fa 2

(c) 1323

(d Fd1MAH2
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123. 38 ufea @fgaw, 1973 & 3w wufw &

sftmrew ¥ ey ¥, Fafafas F9 w ffer

Hifem

1. fafufrgam aifSa suf i ww=m =@
& fore sraww & Tt gferm 3u-fiee
3 sf= d9fe w1 P gfom e
s gufe #® sifaEw w3 #
HRW W HHRAl 2, IR IqH W T@
g =@ =1 Fro @ & 3w wufe +
el Ofa @ foud - siaf@ it s wwdt
21

2. 394w &9 ¥ fom o smew # a9 9% w
W TE g, 5" a9 i emew fen I
F dw 7 & sty & i =maeE &
W g e g T @ e )

I FYA A A FH-A1/FA-F T /R
(@) & 1

(b) F=e 2

¢ 13 2IA

(@ Fa13MMAA2

124. T% e ufode, ®ieea 61 o 4 IW &

et gfera aifteerdt =01 foelt oft v e fafam
Afieh a5 H A e H o & g
iz T WIUER } wEa B T oawgel #
e #

1. Fefua saes

2. el gEIL

3. velta awqd

= fau 7 g2 @ wEm = o I ghe)
(@) Fae 1

(b) a2

fc) *a@ 2 3R 3

(d 1,23MW3



121. An employer of an establishment deducts

an employee’s contribution from his
wages for crediting the same to the
Family Pension Fund as per law but
does not credit the same as required by
law. The employer

fa) would be guilty of committing no
offence under any law on his
promise to deposit the amount

(b) would be guilty of having violated
the law and would be punishable
only under the relevant labour
legislation

(¢) would be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

(d) would not be guilty of having
committed the offence of criminal
breach of trust under the Indian
Penal Code, 1860

122. The punishment of imprisonment for life

can be awarded for which of the
following offences?

1. Mischief by fire to destroy a
building used as a place of worship

2. Mischief by explosive substance to
destroy a human dwelling house

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2
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123. With regard to seizure of property under

the Code of Criminal Procedure, 1973,
consider the following statements :

1. A police officer not below the rank
of Sub-Inspector of  Police
conducting an investigation for
identifying unlawfully acquired
property can make an order for
seizing the  property under
investigation if he has reason to
believe that the property in
question may be concealed or
transferred in any manner.

2. An order made as above shall have
no effect unless the same is
confirmed by an order of the court
within thirty days of its being
made.

Which of the statements given above

is/are correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

124. A District Magistrate may by warrant

authorize a police officer above the rank
of a constable to take possession of an
objectionable article deposited in any
place. These articles include

1. forged documents
2. false seals

3. obscene objects

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(¢) 2 and 3 only
(d) 1, 2 and 3

[ P.T.O.



125. 3 Wik dfEan, 1973 ¥ adfia aomeft % ey
7, Fr=fafas s9at w faar fifso .

1.

FIE qelt ANZ 99 9% Yadd § @M "
7% & 3@ 9 +@ T =T T
& R oo wman @ 1 9w 9% @ Fenfa
T W T wmen R)

F§ donell O T R ft e W
fremfea wdf fFan sn war 2, R Gafom
WA W I FR AW AEed #
sifermitar 4 R 2|

faen wfe fmft off ofeg =fs 6
daneft & fou qemeht anz s = wwar
&, sl Y ofdy sy & R 4 e
2l

3T HUE A F B /-0 wd 7/E?
(@) Fa@ 1 (b) F=SA 2
c) 23R 3 (d) 1 3R 3

126. s uigR dfEan, 1973 & vfiw gufe sifvmew
% "ay #, Fmfafas 9=t w faar i .

#¢ gform st fedt @ wufa =
Hivrda = g@ar 8 s an d @ R
FamgEgEl

Fr5 gfera afvert foret Uet dufs =
et = v @ i vt aRfeafa |
a3 st 2, o el sty e s o=
"z &)

e wfiwde f 1 W w1 g
T WU ¥ oFH R SR Wk we W
FHAR A FUedd 8, @ e g
Hrearft g smeht fasft =1 58w 2 v
2l

e o & A /A2 A/

(@) Faa 1

(c)

(b) Fa@ 1 3R 2

1,233 (d %34 3
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127. F=fafaa 8 @ f9-w 99 ad 9@ 27

(@)

(b)

(c)

(@

% nfez =@ W ar wivsd @
sAfRe & FE TaEs 71 ghd #) qenstt
% fo oz st o gaar 21

F1§ qRi GRZ 99 9/ B s g 2
54 et = 1 fEr ¥ e $
fore sravas # fln sRs W de &
TR # e # 9% §@ 9 2 B oaw
et =afeh & a1 B

F1§ doeh aRe a9 9 B s g @
W9 AEEE % W IR faew s oW
o & 5 fw =f% = s=mw
foamw % fou 1 sews s@Es W
A & fou g 9t T @, W
ENE Lz

ot forey <o Y g qemeft % fo
qeneft aRe s R s g 21

128. WA 3% Wigan, 1860 % tfiw fraa & siata,
Frafafaa # & #F-w/FR-2 wie 2/87

1.

foreft =afer =1 30 kv @ ofidmw 3 f
8 39 Afe # e Fafew sifver &
wa F4 % foe 3aifa =t a1 fdh =t
%! zafere T 2 B 30 ¥ aftewr =
v fa 2

@ fifa H G w0 T dF FHarE
1 TG99 &1

@, 99 A TR ¥ ¥ H IS SRR
FHEAT 1 Gehl SR F=T

Hi i o e w1 W R a3 g

(a)
(b)
(c)
(d)

1 3R 2
133
F9d 3
2 3R 3



125. Consider the following statements with
regard to search under the Code of
Criminal Procedure, 1973 :

1. A search warrant remains in force
until cancelled by the court issuing
it or the same is executed.

2. A search warrant cannot be
executed at any place if the place
concerned falls outside the
jurisdiction of the court issuing it.

3. A search warrant may be issued by
the District Magistrate for search of
a person who has been confined
where such confinement amounts
to an offence.

Which of the statements given above
is/are correct?

(@) 1 only (b) 2 only
fc) 2 and 3 ({d) 1 and 3

126. Consider the following statements with
regard to seizure of property under the
Code of Criminal Procedure, 1973 :

1. Any police officer may seize any
property which may be suspected
to be stolen.

2. Any police officer may seize any
property which may be found
under circumstances which create
suspicion of the commission of any
offence.

3. If the value of the property seized
is less than one thousand rupees
and the person entitled to its
possession is absent, the court may
direct its sale by auction forthwith.

Which of the statements given above
is/are correct?

(@) 1 only (b) 1 and 2 only
fc) 1,2 and 3 (d) 3 only
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127. Which one among the following
statements is not correct?

(a)

(b)

(c)

(@)

A Magistrate may issue a warrant
to search a document or parcel in
the custody of Postal or Telegraph
authority.

A search warrant may be issued
when it is not known to the court
that a particular document or thing
necessary for the purpose of any
investigation or trial is in the
possession of any person.

A search warrant may be issued
when the court has reason to
believe that the person who has
been issued summons to produce
a document necessary for any
investigation or trial will not
produce the same.

A search warrant may be issued for
general search of a particular place.

128. Bribery, under the Indian Penal Code,
1860, includes which of the following?

1.

Giving a gratification to any person
with the object of inducing him to
exercise any electoral right or
rewarding any person for having
exercised any such right

Making of a declaration of public
policy or making of a promise of
public action

Giving or accepting a treat in
the form of food, drink or
entertainment

Select the correct answer using the code

given below.
fa) 1 and 2
(b) 1 and 3
(c) 3 only

(d) 2 and 3

[ P.T.O.



129. F=fafiEa 4 @ F19-w1 v wifdaf= e 27

(@) T¥E e = smm
(b) TR LR St A
(c) TEHA et AR TEr 3

(d) TER FeTEEIE FE

130. #FE AR waw sfufam, 1993 F da 3,

Frferfa & @ ®9-w Fu= wd 27

(@) Tt T oma Ifver sEm ¥ srae
3R e Fa« Ui a6 H Efy @
YT 9T YR & §)

(b) Tt T=a wwE R M F anae
3R e Fad B: 94 H @iy a9
9% YR Fd 3|

(c) Tt T=a wme AR s & s
3R g o9 ad # iy 9% 19 v
URY F § 3R 3 iR & um Ea E

(d) ot 59 amE after s & sy
3R wew uig 99 f wF iR sEfy &

fere gy forg s wea 21

131. wHa R e Afufam, 1993 F day 4,

Fr=feafaa wut w fa=m Hifs .

1. WHE 9Fa AfER @ § w5-8-F
& Aige we= #1 g1 e &, Rl
qHa ftErl ¥ dafa et @1 39 @
AR 39T B
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2. UEE uME AER W § -
@ wee w1 B afvead @, 5 wee
At @ wafa et =1 3= @
AR I B

3. fewaimdl & fou ger amgw ® Faw
F8 WivE & fou o ama sfer
SR %1 HEE wHH Aa 8

IFE FUEl A § -/ RN wd R/E?
(a) &« 1

(b) Fae 2

(c) aw 2 3R 3

d) 1,233

132. 9RA ¥ Hiqum w1 Fefafaa § & F9-a1 39ay

Frare Friw & wefia 27

(a) ¥R 19 (b)) IFFWT 20
() ¥FTWT 21  (d) IFwT 22

133. WRA % #luR & Fefafes 3§ @ fra sgsoe

§ fry o Gl w1 wad o @ T R
T 27

(a) == 20(1)

(b) TR 20(2)

(c) HF=a 21

(d) FFF=7 22(4)

134. WRd % ®AUR & =38 22 & W

Frafafaa & @ F9-ar siftmr firgar e

3in feg @ o fedt =afs & oo W sw @

IueTsy TE B7

(@) UG 9 FT AER

(b) frwar % HRol %) S w1 AGHER

() "Rz & witer % fomn firgadt ¥
g 52 ft Efy @ s s|fy &
for Feg 78 @ @1 sifusn

(d) ot v & et faftr sqaamht g e
SfcRE 0= & 3R



129. Which

one of the following is a
constitutional body?

fa) The National Commission for
Backward Classes

(b) The National Commission for
Scheduled Tribes

(¢ The National Commission for
Protection of Child Rights

(d) The National Commission for
Minorities

130. Which one of the following statements

with regard to the Protection of Human
Rights Act, 1993 is correct?

(a) The Chairman and Members of a
State Human Rights Commission
hold office for a term of five years
only.

(b) The Chairman and Members of a
State Human Rights Commission
hold office for a term of six years
only.

(¢) The Chairman and Members of a
State Human Rights Commission
hold office for a term of three years
and are eligible for reappointment.

(d) The Chairman and Members of a
State Human Rights Commission
can be reappointed for one more
term of five years.

131. Consider the following statements with

regard to the Protection of Human
Rights Act, 1993 :

1. It is mandatory to have at least
one woman Member in the National
Human Rights Commission having
the knowledge of, or practical
experience in, matters relating to
human rights.
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132. Which one

2. It is mandatory to have at least
three Members in the National
Human Rights Commission having
the knowledge of, or practical
experience in, matters relating to
human rights.

3. The Chief Commissioner for
Persons with Disabilities is deemed
to be a Member of the National
Human Rights Commission for
certain purposes only.

Which of the statements given above

is/are correct?

(a) 1 only

(b) 2 only

(c) 2 and 3 only

(d) 1, 2 and 3

among the following

provisions of the Constitution of India
relates to preventive detention?

(a) Article 19 (b) Article 20
(c) Article 21 (d) Article 22

133. Amendments to which one among the

following Articles to the Constitution of
India have not been enforced till now?

(a) Article 20(1)
(b) Article 20(2)
(c) Article 21

(d) Article 22(4)

134. Which one among the following rights is

not expressly provided under Article 22

of the Constitution of India to a person

who has been arrested and detained?

(a) Right to get bail

(b) Right to know the grounds of arrest

() Right not to remain detained
beyond twenty-four hours of arrest
without the authority of a
Magistrate

(d) Right to be defended by a legal
practitioner of his choice

[ P.T.O.



135. €8 ufshan Gigar, 1973 & = fingar fou My

=fer $ fimre @ vafta Frafafas s w
ﬁﬂﬂiﬂﬁq:
1. frwar feu o fdi ==fe =1, =

s fafm tfe @, =g i i =9 &
fera sqrew fean s wewan 21

2. 3fe firgar fmu o ==t 6 v w@
g AfF wAEE I R ®9 |
frare 2, @ ot gwmed # fymmes whiEn
@i difegumht sravg FE =ifE)

3. e fimme w@ awen =fE aefas @
i w9 @ faw B, @ @ e &
wdagor § e s st 98 2

I FoE A ¥ FH-A1/FA-A T R/E
(@) Faa 1

(b) FEd 1 3R 2

(c) “Ha@ 2 3R 3

(d 1,233

136. G & dfaum & F=fefaa 4 @ g syeg #

Serrd, 4w S8 o wma %1 gl SR SR A
3t YR 1 3 werq 99 Siafig e wn R,
wg t9 B o fwdt fave & wdefe
weE % fo afad dan afdfe =@ @
Franfra =t wean?

(a) = 23
(b) TSR 24
(c) ¥R 25
(d) = 26
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137. v @iy Afufam, 1872 & i ‘miew’ @

1 IifE 87

1. &Y, W SdH d28 & faegt & ey #
%, IR AW AW G wiEE g
fop SR 6 S A B, o1 SE R

2. e % e % o 3 fe o afi
T, ol sogie sl wite
i

H9 fw o 2 = W W= wE I g

(@) Fa« 1

(b) F=E 2

(€) 1 3 23E

(d 1T 2

138. Wrdm wiew wfufEm, 1872 F ey #,

frefafan fafte wemat & @ #9-w1 v T

¥

(a) &l vy R T =mew fd @
IR R G, g8 A" 47 a1
A I WiGd g3 AW wHW, AR T@
Trenfaa € T st 8, 0 39 Hea
TR W GH

(b) & 3Ew B % =wem el aa i
ITYRON HT, GE AMEd W@ a3 @
oifed wAm, afe @' AEfaa @
wran

() &l IwEy & fF =mem fRR qe @
IYURUT HEN, TE A FEqd A
FHE

(d) e &% & awa frdt o awa @ e
Taq =it fen o R, aw =men
UF a2 % Wifd 8 WH W 39 3 H
wifdd AW 3R W AEfEE FE F
wisE % foe @ g sm A e @
am



135. Consider the

136. Which one

following statements

relating to identification of arrested

person under the Code of Criminal

Procedure, 1973 :

1. An arrested person can be directed
to subject himself to identification
in the manner prescribed by the
court.

2. If the person identifying the person
arrested is mentally or physically
disabled, the identification process
must be videographed in all cases.

3. The supervision of a Magistrate is
not mandatory if the person
identifying is mentally or physically
disabled.

Which of the statements given above
is/are correct?

(a) 1 only

(b) 1 and 2 only

fc) 2 and 3 only

(d 1,2 and 3

among the following
provisions of the Constitution of India
prohibits forced labour such as traffic in
human beings, Begar and such other
similar forms of labour, but does not
prevent the State from imposing
compulsory service for public purposes
without discrimination?

(a) Article 23
(b) Article 24
c) Article 25
(d) Article 26
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137. What does ‘evidence’, under the Indian

Evidence Act, 1872, mean?

1. Statements in relation to matters of
fact under inquiry which the court
permits or requires to be made
before it by witnesses

2. Documents produced for the
inspection of the court including
electronic records

Select the correct answer using the code
given below.

(a) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

138. Which one among the following legal

propositions is not correct with regard
to the Indian Evidence Act, 18727

(a) When there is a provision that the
court may presume a fact, it may
either regard such fact as proved
unless it is disproved or may call
for proof of it

(b) When there is a provision that the
court shall presume a fact, it shall
regard such fact as proved unless it
is disproved

() When there is a provision that the
court shall presume a fact, it may
call for proof

(d) When one fact is declared to be
conclusive proof of another, the
court shall, on proof of one fact,
regard the other as proved and
shall not allow evidence to be given
for the purpose of disproving it

[ P.T.O.



139. wRdE Wi AfufEm, 1872 ¥ wdm

‘e’ ¥ ieta ® e T 27

(a) Wiz

(b) wEAEq

(c) Tafaes =mamdn

(d) &g R & fo 3w w9 | witga safe

140. fr=fafaa § @ fFa amd § s=am = 3

finaam =t % sttt % wem & for frga
dm st fau?

(a) Fro Fo TG FAH ufdm wMe TS
(b) Tl FAH F977 IW 2N TA
(c) %@ e F faEr T
(d) TEHE FER F97H WRA 69

141. g=1 1 sftmR sifufm, 2005 i fFefafae

st § 8 fhed e, weR g wifte
AGE 3R g gl # ot aee it
% JfowEa ¥ Hafa g1 & TR § 92
T 27

(a) 7 18

(b) ©TT 20

(c) HIa 24

(d) T 26

142. f=fafes § @ Fm-ar o T8 27

srenfie faamr srfufem, 1947 # um 10A
% I far % warem & fon S=ew fdw
o s @&

(@) & & *g ienfis faae femm 2 o
B Y v

(b) & Frier® iR Fder faar #i awreey
% o fdfire fape 9 % fore wema &
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() faam =t g/ 10 & =i FERm faa
9 8 @ o Fefim fe 9™ % gam
ot oft T

(@) @ =afe @1 =afedal @, o wmeway
Fm A fafaffe fn s

143. Mifes faar wfufam, 1947 % sk G

wfufivia F yEmm 3R gRY 9 % ey 1,
Frafafga 3 & FH-a1 Fo7 wd T 27

(@) 2\ =AETeE, e 91 e it
# W el ey e O sfufiod,
Yo @R 30 @ sfufel 6 wfy
# aif@ ¥ 30 & i FemEty F fiw
wentfyTa oA smam |

(b) HfufFvE, TG TER FR IEH THEE
# afrE | 30 7 ¥ 3EEm w yadi
T

(c) 3Rk agfea TR f 78 T & 5 e
AAZIEN W UM S a e Al
AWl W 39 Afufels w1 gwEl #==
FEdrE gm, @ e wER Oifte =
wadl & 6 30 7 ) wemEfy F seem
o oft T rfufoly wedHg 7@ dm

(@) Tl sifufi it swadda =@ & dag
4 wfea war 4 fifga wfwal sreifes
2 3l et | Rl s it @
Tt waffa w0 I avEEa T8 21



139. ‘Court’, under the Indian Evidence Act,

1872, does not include which of the

following?

(a) Magistrates

(b) Arbitrators

(c) Civil Judges

(d) Persons legally authorized to take
evidence

140. In which one among the following cases,

the Supreme Court issued detailed
directions for the protection of the rights
of the arrested person?

(a) D. K. Basu vs State of West Bengal
(b) Lalita Kumari vs State of UP
(c) Rudul Sah vs State of Bihar

(d) Parmanand Katara vs Union of
India

141. Under which one among the following

Sections of the Right to Information Act,
2005 is information pertaining to
violation of human rights not exempted
from disclosure by intelligence and
security organizations established by
the government?

(a) Section 18

(b) Section 20

(c) Section 24

(d) Section 26

142. Which of the following is neot correct?

A voluntary reference of dispute to
arbitration under Section 10A of the
Industrial Disputes Act, 1947 can be
made

(a) where the industrial dispute exists
or is apprehended

(b) when the employer and the
workmen agree to refer the dispute
to arbitration
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143. Which one

(c) at any time before or after the
dispute has been referred under
Section 10

(d) to such person or persons as may
be specified in the arbitration
agreement

among the following
statements in respect of publication and
commencement of an award under the
Industrial Disputes Act, 1947 is not
correct?

(a) Every arbitration award or award
of the Labour Court, Tribunal
or National Tribunal shall be
published by the appropriate
government within a period of
30 days from the date of receipt of
any such award.

(b) An award is enforceable on the
expiration of 30 days from the date
of its publication by the appropriate
government.

(c) The appropriate government can
declare that such award is not
enforceable even after  the
expiration of 30 days, in case it is
of the opinion that it is inexpedient
on public grounds affecting the
national economy to give effect to

the award.

(d) The powers vested on the
appropriate ~ government  with
regard to making an award

unenforceable are absolute and it is
not required to refer the matter any
further to any other authority.

[ P.T.O.



144, efs foar sfufem, 1947 & afiw

‘wHER F i, Frafataa # @ e oo
%1/ Afwi & =afeh sman B/ &7

1. f&h zam d wnefs @ & 2@ &
foru Fafoa =afee

2. fh 3am 4§ qh =@l # @ F o
Frnfsa =afes

3. Tt wrem & sftet o i % w9
1 s =afw

4. fweft sam 4 wiEaes w91 # F@ &
o Fenfora =afe

2 fow e g2 F W@ =W wE W g
(@) Fa€ 1

(b) Fa@ 2 3 4

€ 2,334

(d) 1,23R4

145. Fafafias 4 | #F-w, S f |2 9 sa

27

(@) X wiftranfiar i 3y &1 A I W A
Tareit & frga & o 2

(b) X % Faem dfemr # Fefmo @ fg
WA F ForaEy Igh YaT GHH S
EIGiE

(¢ X% s g fh ot wmw @ e
a1 gu = & I R

(d) X & IgEtE Fiiar % w9 # fu m
¥E F FoRgey W ENE F1 wdamE
1 T s 2
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146. Fefafas & & fFa/fee wifts fawear &

®q # Fifga fFa s wwar 27

1. 3l Fomear sromft yer 6t 8, @ @@
TR I fFh Faem d sueH-gme
4 8 ol ¢ fed a8 38 gden & v
W g o

2. fe Fymear srarlt weR A R, @ I=
=fe w1 @ ot F8 F9 F g v
a1 3t 8, T a9 3@ ghem F
Fremfea 3 % forg wmd o

3. afE Fywren wrf R 6 2, @ mE w
@ e § suh Sue-ameE w0 8
st 8, o mew #1 & o 9y gefen &
au qu 91

Ha faw o g2 = @ R wd@ I g
(@) 2 3R 3
(b) 133
(c) Faa 3
(d) Faa 1

147. wart wfest afufem, 1923 F  andF,

frafafea 4 @ o amel § 8 s
yfdet F1 39ER Bm?

1. e foret wfarl A a1 Feem @ s
gHe g Aafre @fa Fifa et 2

2. &l afa & Frw @ f&i F fou qof
R orhar i @

3. & FERt # 39 FEee & sgew |
Jufren afa wifa at &

= faw o g2 w1 W@ = ad W g

(@) Faa 1 3R 2

(b) Fa@ 2 ¥R 3

fc) % 1 3R 3

(d 1,23M3



144. Which of the following categories of

persons is/are ‘workmen' under the
Industrial Disputes Act, 1947?

1. Persons employed to look after the
administrative functions in an
industry

2. Persons employed to do technical
work in an industry

3. Persons employed as officer or
employee of a prison

4. Persons employed to do operational
work in an industry

Select the correct answer using the code
given below.

fa) 1 only
(b) 2 and 4 only
fc) 2, 3 and 4

(d 1,2 and 4

145. Which one among the following amounts

to retrenchment?

fa) X retires from his services on
reaching the age of superannuation

(b) X is terminated from his services
due to non-renewal of his
employment contract

(c) X is terminated by his employer for
any reasons whatsoever

(d) X is terminated from his
employment by way of punishment
inflicted by way of disciplinary
action
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146. Which of the following can be said to be

classified as partial disablement?

1. In case the disablement is
temporary, it reduces the earning
capacity of the employee in any
employment in which he was
engaged at the time of the accident

2. In case the disablement is
temporary, it disables the person
from performing all works that he
was capable of performing at the
time of the accident

3. In case the disablement is
permanent, it reduces his earning
capacity in every employment he
was capable of undertaking at the
time of the accident

Select the correct answer using the code
given below.

fa) 2 and 3

(b) 1 and 3

c) 3 only

(d) 1 only

147. In which of the following cases will

an employer be held liable to pay
compensation under the Employees’
Compensation Act, 19237

1. Where a personal injury is caused
to an employee by an accident
arising out of his employment

2. Where the injury caused results in
total disablement for two days

3. Where the personal injury to the
employee is caused in the course of
his employment

Select the correct answer using the code

given below.

fa) 1 and 2 only

(b) 2 and 3 only

(¢) 1 and 3 only

(d) 1,2 and 3

[ P.T.O.



148. Fart wioa sifufigm, 1923 ¥ @ &,

Frfafiaa 3 @ #9-w %= wd 27

(a) w8 AfuFEm % 3 w3F wwgwa ufdr @
Hd-uifes de wHEl @ R e
= # wgfee o1 wie @1 g
S A E w

(b) g BRI Wi A g W R R
S EET, A @ ghen #i g 6%
ufed 89 % g T 4w 8

(c) wd-wfte dem ww w0 ¥ Rt sifsr
=1 Araw fet off oRfeafa & G vegva
TN % W g TE R S v 2

(d) wHar $it 7 § F=del €9 F wwa A,
sfufem & s weg and-wifts dem
1 qATEA g g R 1 e

149, Fat wfesy ffyr i gl 39y srfufiem,

1952 & 3 wferdt afsy A <fm &
394l & Wadd ¥ g2 34 & gay #, Fafafaa
AT W =R Fifve .

1. IR wgfa a@r 6 78 ™ ¢ B
W % AfeE ft W F aEa Igh
e fifr & fam, @ sfufaw &
fafafée framt #1t sman #n s 7 &,
at g2 € w1 g

2. fe foeft T & wdard, wiiss fafy,
W W IEE Ay B g W
I W w R, W W sl R
S FA IAEA T & @ fulem
% i Iuafya €, a g2 4 o g
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3. ol uH ge & v R, Tl 3@ afufem &
Hf sifeEm (9w 6) it Pt g
WM U7 T FHGURY (AT 7A) | Faa
39y AR TE g

IR HE H B BT/ FA-A wE /R
(a) Fad 1

(b) Fa@ 2 3R 3

() 1,233

(d) ¥ 1 3R 2

150. gore a1, W =AEew, e @ e

Hitn & wmy Rt s ¥ d@fa @ %
anm, ife faar sfufem, 1947 %
sy w8 Faew feffes & @ #R-d@
FHaTd T FgHm?

1. 39 81 v@l ®I, 9 U FEEE % Ry
¥ 9% vedt Tl wden # @ A g,
o 4 swow el e & s &
gftafda &

2. Tt #der # <faq e ¥ swaw
Tt srem % o iRm0 71 2fea
I

3. fwfi wfim wden =, 9% g
sgmrat afifa afsa F0 F uag
I e @ a5

Hr2 faw o e w1 v W 3w gh)
(@) Fa 2
(b) % 3
(c) 13M2
(d) 133



148. Which one of the following statements

in the context of the Employees’
Compensation Act, 1923 is correct?

fa) The lhump-sum or half-monthly
payment payable under the Act may
be assigned or charged or liable to
pass on to any person other than
the employee.

(b) A notice of compensation may be
entertained by the Commissioner,
even if the notice of the accident
was not provided when the accident
occurred.

(c) Any right to receive half-monthly
payment can under no circum-
stances be redeemed by payment of
a lump-sum of such amount.

(d) The half-monthly payment payable
under the Act may be reviewed by
the Commissioner in case there is
a change in the condition of the
employee.

149, Consider the following statements in

respect of granting exemption from the

operation of the provisions of the

Employees’ Provident Fund Scheme

under the Employees’ Provident Funds

and Miscellaneous Provisions Act,

1952 :

1. In case the appropriate government
is of the opinion that the rules of
provident fund as to the rate of
contributions of an establishment
are not less favourable than those
specified in the Act, exemption may
be granted.

2. In case the employees in an
establishment are in enjoyment of
benefits in nature of provident
fund, pension or gratuity, which
are not less favourable to the
employees than the benefits
provided under the Act, exemption
may be granted.
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3. Where such exemptions have been
granted, the provisions regarding
contributions (Section 6), and
determination of money due from
employers (Section 7A) under the
Act, will not apply.

Which of the statements given above
is/are correct?

(a) 1 only
(b) 2 and 3 only
fc) 1,2 and 3

(d) 1 and 2 only

150. During the pendency of any proceeding

before a Board of Conciliation, Labour

Court, Tribunal or National Tribunal,

which of the following actions cannot

be taken by an employer under the

Industrial Disputes Act, 1947?

1. Altering in regard to any matter not
connected with the dispute, the
service conditions applicable to
a workman immediately before
the commencement of such
proceedings

2. Discharging or punishing a
workman for a misconduct that is
not connected with the pending
dispute

3. Discharging or punishing a
protected workman after instituting
a Disciplinary Committee against
him

Select the correct answer using the code
given below.

(a) 2 only
(b) 3 only
() 1 and 2
(d) 1 and 3

[ P.T.O.
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